ICT in EFL credit test, MA2, 13/06/2014.
Circle the best answer

1. Avisualizer is:

(a) a contemporary episcope,
(b) a reflective wall screen,
(c) a projector (beamer),

(d) a smartphone screen,

(e) Google Glass eye-piece.

2. This Spectrum screenshot comes from the program called:

() John and Mary,
(b) Phonetic Reader,
(c) Money Borrower,
(d) Shuffler,

(e) Space Invaders.

3. Corpus-derived data show that ... is the most common
prepositional collocation with 'moment’ in English:

(a) at the moment,

(b) for a moment,

(c) at this moment,

(d) in a moment,

(e) for the moment.

4. Animated speaking agents of Baldi type offer:
(a) Artificial Intelligence,

(b) Automatic Speech Recognition,

(c) perfect lip-synching,

(d) X-ray-type functionalities,

(e) detailed articulatory advice.

5. Internet is to web as:

(a) browser is to search engine,

(b) Facebook is to Google,

(c) hardware is to software,

(d) emailing is to Instant Messaging,
(e) web1l is to web2.

6. Blogging and podcasting are rare in FLT because they:
(a) are passive technologies,

(b) require considerable technical skills,

(c) require top-level hardware and connectivity,

(d) require effort and consistency,

(e) are unknown in schools.
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7. According to Turkle 2010, "sociable technology will always disappoint because it promises what it

cannot deliver"; namely it cannot deliver:
(a) Artificial Intelligence,

(b) ASRand TTS,

(c) reliably walking robots,

(d) responsiveness,

(e) friendship.

Best answers: 1a, 2d, 3a, 4d, 5c¢, 6d, 7e.



